« " Level Mathematics MTH 311b

Rig@ur Maths

Outcome 3 - Perimeter

Bronze examples Silver examples

Gold examples

Calculate the perimeter N
of the following shapes..

16 cm 10 em Perimeter
= 15+10+18
= 43 cm

18 cm

Examples... Examples...

15m

Perimeter

46 m

Calculate the perimeter x
of the following shapes...

9.4 Bm
8-5
[ ¥oql Squarel 9m
4m
8m

Perimeter Perimeter
6 x4 = 9+5+5+3+4+8
24 cm 34 cm

Calculate the lengths
of the missing sides...

Examples...

Perimeter = 44 cm
15+12=27

44-27=17cm ° °'"12°'“

?em

8x2=-16
40-16 = 24

Perimeter = 40 m

Bronze Questions T Silver Questions
Calculate these perimeters.. ai/ Calculate these perimeters...
32m .
24 cm 19 em
-Jﬁ & 21lm 21m -Jﬁ 8 cm | Squarel &
29 em 32m 15 mm
8 mm 8 mm
- 11 mm -3 @ = & 7 cm
" Regul Regular
7 mm 7 mm Pe??rigc:‘n Hexagon
7 mm 23 mm 12 mm
8m
é 60 em )= 16 m é = 6 cm
58 cm 40m 17 cm

Gold Questions

Calculate the missing sides in the shapes below...

Perimeter = 54 cm Per'ime;er' =70 m
s m

4
s 19cm 4cm & 11m|:|13m

2 cm 2zm

%9 Perimeter =20 m & Perimeter = 45 m

?m | Squarel

? m \ Pentagon

& Perimeter=36cm & Perimeter = 38 mm

2cm

Regular 7 mm

Hexagon

? mm

Perimeter

Key Facts/Formulae: =0
**To calculate the perimeter
you add up all the sides!™*
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Bronze Answers

1. 72 cm
3. B0 mm
5. 199 cm

Silver Answers

1. 32cm
3. 20m
B. B9-66m

Gold Answers

1. 21cm
3 Bm
5 6 cm

Perimeter

MTH 311b

2. 106 m
4. 42 mm
6. 144 m
2. 45 mm
4. 42 cm
6. 64 cm
2. 24 m

4 9m

6. 12 mm
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